SPMMé 2018 ECSE-2l00 FrlW-l FExam-02 Eloctrostatrer O

FrobLlow | Charged olielectu'c papa W =l
Ar=2cam and f=/0’C'CI'/w«3
Colncedhin e 3Muucﬂea{ maetal %/Q'Ltaler

(&) Fx /ae.m'w enfal sedup

CalecnSnile j (+)

¥ 4z == No c}'\alfg-e. = | V=0

f omzaia, = = (077G

Moxwe® L : ol B = p
—’)A{XD—.-AH =*/V L
Pole: > Il AR a;ﬁ dh = D oA
Doprf = fpopadeg
Do = pfwde e p 2o,




* /l’zﬁxr_é/r’s

P e
D) = 57 (=47

K M EA = D) =

S leed<ln 61£ 3(#)

Skefch a’vﬂ € ()

E
H (r P"fe // G{f—ouuapeoQ




(c) j) ,Q\,Qs /ymaxfmutw avL A = A,

E fos suaxiaum in alv at =

P 2 2
B R Tl )
L =,
~10~ 18/ ot e j
T 2 2x1072 £<2X’° ‘M)jﬁ (8 1=10"%m) /
'f'——é- IO’?"E"EF T 107t
= A % lof’/ C"/MZ .
— =i (g/j:
E -2 > ok 1L - = —3.47(0
= = = = Al D = — &7
s £ 3 35 = (0 ﬁf/l@
V V
|0 s = — O84F 7



@
ool Lewm 2 270,@@& anol 3—pﬂa¢e eapaczlo/r'

(59 /goo fla/Qalc i -—!.dl-*
Raea=R +Q,
—
/ERF@Q—’/D/QOZQ a ——fd | jo—
RMG:H L/Q&J_
~Q B
SLIOP‘LQ&Q

CalewLaton of E%\zﬂo{ %ob 2—-/9,Qa/-0— G :

Masslt | $Baf = [ palV
_@“dﬁ = Y A =Q, => _b‘:—-‘Q,/H

- |E-2 -2 A

(b) Caleclohion of E LB for 3 —plote G
Mot L §TAR =, p oV

- &\
PWR = DA = Q = D= 7
D _ L&
. E=2T"=7 |

= F af 2792.4:[4 C oud Z-plale G a e denhcal.



Shince fy{ d are /io‘emvlfcaﬂ, V' valees &

ot adenbhecal as  c02ll,

M
_ 2%
Cg,/o,QoLe & V
(0[) COW}/:QM:S‘MA'. dg-fﬁa& = 2 az—ffak

=0 C;__f,gah % AAS e S 0% ot medal
bt ,Ros 100% é/tpealer c,a/oo.cfv‘ahcx.

=P CZ-/OQQL? S /o,e,—H—e_V“

=b M }/D/}—QC;VLIC,QQ CO/VO\C’(’\LOTJ' /H’_&‘e_mé»&
Sarct 3f/oQa[e~_ ca/ao.c[v"o/v:s-.

=P ?A——a cshc_q/@ c,a/ao c/c:{*v/r' i

c"—_/ﬁ:\\/t/ Flale |
@ - Plole 2



©
?/}"‘DL/QQW g //Lh; /Ww/ﬁ{q/() S/o/ple_b-e ca/nauf»

O\'bjﬂ_

Metal S/ol’leu il sadius A

<hel cotl wadics 4+
ancl shell Wcleness da

CaleePohon @% (/&.cv[vw‘c %Jd based on Mexwad .

DR = P HT+®? =Q =° “D=7TQ;’-

> _ A
TS Yre, T
(b) E"‘”ﬁ& Aemwy: =
E'r\wéy ( Al
Vo Liame. $Z/£E T2 S T e ¥
e

=32 g, Y

Enevgy 4% dor,

Eunergy = s
29 IV° 0 otz of shelf
=% Waat TRATAr
ATREIAI o
TS e r* 0




(C) %VLQ/Q Qmwﬂﬂ sYore s AN ?%ZQD’

: 1 _Q"
SAZQ/Q, AE’W;; =5 ?’7{50”2 0‘/7‘

E.IAVL:'!—C S/DOCQ.' EMZU‘J% = fﬂ( Em_gﬁ

00

e QZ Q2 /
= S®e A 4 T 3ne / Sz A

o ° A=,
_ Q- —.L/ Q* J Q*
~ 3re. v+ Ly, T 3TE, (O+/—'::> ~ e
80 T 3T €. 27 3 35~ 10~'%As 107 W)
10
= = . 7
TR Vv O. 044 gl

Ce-> CO‘\-@Q\;M/MYL:'OIA /= Seﬁ/oogieo( reetal sfhwf
= Fld Zhelﬁﬁﬁ = me, =0.05’785’

—

COV\qQ&MVO-‘f'\'O'f\ D =» Co -—/QOC_Q)lea' S/MQ,qQ;
= F . old eheuﬂpv = O (%et-o>

et
—

(?N vaﬁﬁav}zd - 3%\2;/”_0 = 0.08?8?

== Mefal S‘/),QZ/AQJ aract 2ach o MRer



?M%/Qo,w Lf i /]/ku\e, / %O-/QS'-G. C,/Mefv[‘c'OM

(a) 4;)’\/\/6 5 f/mw(jﬁ /p\of Py, @£ g
Emel,ﬁy{,, D{QI\J‘A'? /Q\QJ /c/\lm'vl APW'%

() False : E ond B Aawe dffprent
ans . (Daaudthes QA

D(A‘%e,u,l\‘{‘ /Ml/\t"?L_S' ca pnhn avL 2ver

be oomyaau_of.

Seia i oow\,‘pon:sow o 0Ll
ot Aalkee sense.



